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Lecture 6

Goal today: Basics of constrainted
optimization via constrained least
squares. 

• Quick review of conditions
• Intro to convexity and why it 

makes optimization easier
• Local mins are global mins for 

convex functions
• g(x) is both necessary and 

sufficient for continuous convex 
functions

We'll need a result from your HW to 
show least squares is convex. 

• Solving least squares
• Constrained least squares
• Solving constrained least 

squares we probably won't quite 
get here. 

Logistics: Office hours
David: Fri 1:30-2:30 Lawson
Disha: Mon 11:30-12:30 DSAI
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